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- skill
e ccording to Fitts the phase. of ski
:—@ T o | f;arning iri1tcii:1edes -
e e
(B) w@mEw ©) Associative
Eg)) m;ﬁﬁ-— (D) All of the above
; ‘ _..work with persons who
W%ﬁ%aﬁmﬁ mﬁag'{m;mrqq;mq il suffer .}rom motivational and
R At §1 | f emotional pro.ble'ms. y
(A) ORI FAISRIS — (A) Counselling Psych(?logls
(B) iR wawien (B) Clinical P'sychologlst =
(C) TRIfas® AaIT (C) Communmnity Psychok.)gls
(D) TIHHS® TRIAITH (D).Cognitive.Psychologist
GTAICTE &l vevevereneithos grigag | 3~ The creative potential can be
STEEAE improved by -
(A) W&t wfem (A) Proper training
(B) wfceqei (B) Competition
(C) Tmerema-»— (C) Activities
(D) .53 (D) Punishment
"FRRAR % YEAH B A2 4. Who was the founder of
| 'Behaviorism' ?
i (A) Wundt
g ﬁmqﬁg]ﬁ ~ (B) James
(C) 'h Y(C) Thorndike
(B) e (D) Watson
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(A) faeure

(B) wfam™=

(C) SR

(D) I G |

TR 1 o T S et fefd

¥ oggER ®1 HLAYT w@l e,
il

(A) TR TR

(B) WMo AR

(C) TR FAfoH

(D) HToTTs W

Kohler and Koffka believeqd

learning to be @ function of -
(A) Trial

(B) Imitation
(C) Insight
(D) Practice

When a student comes back home
after having scolded by his

teacher, starts quarrelling with his
siblings on any pretext, this is
called-

(A) Displacement

(B) Regression

(C) Aggression

(D) All of the above.

The branch of psychology which

studies behaviour in social
situations is called-

(A) General Psychology

(B) Social Psychology

(C) Cognitive Psychology

(D) Organisational Psychology

BON



8. sy uw WRAS TS € g h

hic
"""""" 8. Attitudeis a popular term w

by . i is related to-
(4) 1 : (A) Heredity
(B) st (B) Learning
(C) 7= (@) Mind

(D) =& (D) Behaviour

9. fawma wfedds =+ T winey ? sl 9 Development is the pattern of

................ T TR B S T | . harige thatbegins at ...............and
TfRie e B continues throughout the life.

(A) HiYE () Conception

(B) s | (B) Birth

(C) IwmEmeer ' (C) Infancy

(D) seareree | (D) Childhood

10. & Wgu R e ?ﬁﬁmm @Xame the test refers to the

=IfeR B TS SRt Y gy g consistency of scores obtained by
o ﬂ?ﬂ?ﬁ Y an individual on the same test on
two different occasions.
(A) Tarvererirea (A) Reliability
(B) agfrssa - (B) Objectivity
(C) dean (C) Validity
(D) SR & q HIE T | (D) None of the above.
11. 9ged (Pavlov) §R1 WA 1aeM | 11. In Pavlov's classical conditioning
B FATH ' IS TH THRF oo g experiment 'Food' is a-
(A) eTafta SEaew | (A) Conditioned Stimulus
(B) 3T Srfsiferd SEuw (B) Unconditioned Stimulus
(C) orgafd agfer

(C) Conditioned Response




12. 'Mmfmwmmﬁﬁﬁm

AW e () w i) s
| ¥4

(A) snefafz

(B)

(C) wit-forawam
(D) oy

13, smwmygeiunt/ §-
(A) unnaofla wE

(D) v 3w 7l

15. e A waifaam & e e o v
F?
(A) 7 sEERER
(B) wAfawdam
{C) Ta wfeeey
(D) ¥ & = 7

[ J - 2203 ] Series-D

13.

14,

15,

needs, wh
of it ?

(A) Self actualisatian

(B) Safety
(C) Physiological
(D) Esteem

Milior source of frustration is Jare-
(A) Environmental factors

(B) Personal factors
(C) Conflicts

(D) All of above

(A) An American
(B) A German
(C) ABritish

(D) None of these.

Which school of Psychology was
founded by Freud ?

(A)- Neo Behaviourism
(B) Psychoanalysis

(C) NeoPsychoanalysis
(D) None of these



16. 3 eyt o arerogs Froaie o

® w1l #f v W

w1 feryare e m
(A) wireraw

(B) srpayq

(C) wtmy

(D) w1it  wvd = |

17w
"’i’ﬂw‘.gf; ® o | 17

e §-

fagra

(B) ug ufy fagm

(C) faanita fagra
(D) %mm

(C) =
(D) wam
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18.

A belief in the permancnce of

certain attributes of objects 0T

situations in spite of superficial

changes is called-
(A) Animism

(B) Conditioning
(€) Conservation

(D) Non¢ of these.

HOwardGard ner's theory of

Ny ',ﬂl-'f'j.téﬂ_ige_ncéqi‘s' known as-

(A) Theory of primary mental
abilities

(B) Theory of multiple intelligence
(C) Triarchic theory

(D) Two Factor Theory

Encoding is the process of -
(A) Forgetting

(B) Motivating

(C) Memory

(D) Emotion



e 5€1f is a

19. ‘Iaﬁﬁ ) into ON .
¢ fo e Q’ﬁmmﬁu 19. Withdrawal mdisorder which is
............... . FEd B develop mentd]
| known as - P
(A) woe-fedied s (A) Anti-s0612 behavio®
(B) m (B) Autism )
(C) wHias W (C) Mental retardation
(D) Eﬁ '@ ‘cﬂ;‘ T-{ﬁ (D) None of thes¢
L) F1 R I -q-ga T\ AT IR L Similarity is an
1 T eqo ffes § ) | ;;nportant determinant of liking.
(A) ==t (A) Facial
(B) sifgfa (B) Attitude
(C) i (C) Physical
(D) Swi=a st (D) Allof above
21. S gRI <1 7S Srawena §f Siyraremaen | 21. Piaget's stage for infancy is .......
..................... g
(A) o= Hiwawas (A) Formal operational
(B) o wfsharcs (B) Pre-operational
(C) deel i (C) Sensory motor
(D) T dfsharcass (D) Concrete operational
22. T e g4 & ga 15 off Fm @g | 22. A thirteen year old youth does a
STET SHTRR AT § TH woveerenrernrisens law breaking behavior, he will be
el | considered as -
(A) ol (A) Criminal
(B) @A-dwYE - (B) Juvenile Delinquent
(C) "= fauet (C) Anti Social
(D) THRIHS SHAER (D) Negative behaviour

[J-2203] Series-D [ 8 | j :



23, qROmm HIHAMA oeeeree E] %Eﬁm .
(A) afiron & 23. Knowledge of result1s
(B) Yreler (A) Motivation
(C) 3™ (B) Reinforcement
(D) 37 A = (C) Learning
(D) None of thes€
24. HHAG |
- Friteror fafyr o 2| 04 Systematic observation method is
l :
A) Tarfes similar to -
EB) fafy (A) C inical ™ thod
) i (B) Interview method
(C) W fafy ) Experimental method
(D) et (D) Group method

g to 'ISocial learning

25. ‘W aqu mm’ @ W 25. ACCOI'din

theory' man's behaviour is

R H TR o & g
fayifa | g determined by his -
(A) 3rfsmar (A) Response

(B) ¥RR (B) Body

(C) HHrsieRTo (C) Socialization
(D) a&q (D) Goals

26. TYeq e AfETSH T HIA-H 9 | 26. While running which part of the

e dqed ® a9 q AR brain is mainly responsible for

maintaining physical balance ?

AT 8 ?

(A) J&< G (A) Large Brain

(B) srgufeash (V) (B) Cerebellum

(C) = () (C) Thalamus

(D) Fgen steititer (D) Medulla Oblongata

J - 2203 ] Series-D [9]



27. "R, B’ Y wafre whew = | 27 'R.B. Cattell' made a personality

L 23 RO AN Y S S R test which is known as-
(A) dua. (A) TAT,
(B) Tseg.u&. (B) W.AT.
(C) 16 di.uw. (C) 16 P.F.
(D) wh.4).3TE. (D) M.P.L.

28. ﬁmm'{iﬁ 15 15 AR q | 28. Operantcondition'mg‘ls associated
TEfa ¥ with -
(A) ulfsEs (A) Thorndike
(B) fepm (B) Skinner
(C) =@ (C) Hull
(D) faer (D) Miller

29. GIHE T e, @1 | 29. Creative people tend to think in a
LG T R manner.
(A) fard (A) Convergent
(B) T9ERY (B) Divergent
(C) HFRHSH (C) Positive
(D) THRTHH (D) Negative

30. T Q FF 91 GYS qeAm 7 30. Which among the following s / are

the sensory channel ?
(A) gfi (A) Vision
(B) s&w (B) Hearing
(C) wauf (C) Touch
(D) ST asit | (D) Allof these
AR | 4 :

[J-2203]SeriesD . pop.



| SECTION - 11

Qhtemistry
31. Frafafea § @ M W O g | o
(foect Hmﬁﬂﬁam) % 31. TNthh of the following is an
¢ insulator ?
(A) m (A) Graphite
(B) SIREE) | (B) Diamond
© qﬂ'gtﬁﬁ'qq , - (C) Aluminium
(D) faferehi | (D) Silicon
32. IMEH Y=rd Yehieldd LUPAC. | 32. The 1.U.P.A.C. name of Isopentyl
SRS - Alcoholis - '
(A) 3 Hiame =A-1-31tq (A) 3 Methyl butan-1-ol
(B) 2 Tiomser =pH-1-3ta (B) 2 Methyl butan-1-ol
(C) ¥=A-1-3ifd (C) Pentan-1-oL
(D) 2 R YH-1-3fa (D) 2Methyl Pentan-1-ol

33, frafafea yfafeaed & @ fwady |83 Which of‘the following reactions

2, 2-dibromopropane ST &7? will yield 2, 2-dibromopropane?

(A) CH;-C=CH + 2HBr'= (A) CH;-C=CH + 2HBr -

(B) CH;-C=CH + HBr - (B) CH3;-C=CH + HBr -

(C) CH=CH + 2HBr — (C) CH=CH + 2HBr —

(D) CH;-C=CBr + HBr - (D) CH;-C=CBr + HBr -

34, ‘digf’ w1 oY 2- 34. The term'Sorption' stands for -

(A) FFEeiEo (A) Absorption .

(B) Wrem Y | (B) Adsorption = - ;
(C) 3TaRmS IR dre QAT ~ (C) Both _absorptioﬁ&adsorption
(D) femirsror | (D) Desorption :

[J-2203] Series-D Fa iy (1l



35. Al h BIESISTHISRTO H Sl & ®9H | 35
T B ATt g -t &2
(A) Pb
(B) Ni
(C) Cu
(D) Pt

36. NaCl 3{R NH,Cl % sl d 99 | 36,

o s gpar €7
(A) e

(B) 3Had

(C) ISit 3THaA
(D) fereeaitentur

37. T ATREAT T D s, emafiw, | 37,

HeadSia 3R 39 HegareTe 97y ?

(A) NH,

(B) NH,CI
(C) NaOH
(D) CaCl,

38. F,C =CF, f&uh 9m §7? 38.

(A) 2w

(B) TRt

(C) TH&-6

(D) Buna-S (JA1-TH)

"J -2203] Series-D 1127

+ The meta that is used as a catalyst

in the hydrogenation of oilsis ?
(A) pb
(B) Ni
(C) Cu
(D) pt

We can separate the mixture of
NaCland NH ,Clby the method of-
(A) Sublimation

(B) Distillation

(C) Fractional Distillation

(D) Crystallisation

Identify the compound that has all
the three types of bonds; Ionic,
Covalent and Coordinate -

(A) NH3

(B) NH,Cl

(C) NaOH

(D) CaCl2

F,C=CEF, is a monomer of -
(A) Teflon

(B) Glyptal

(C) Nylon-6

(D) Buna-S
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20, P my JUPAC T 2 s
39. The IUPAC name of following 15

O IOH

Y O OH.-
CHy- C-CH,~CH-CH 1 ‘

3 - O CH,— C—CH,~CH—CHO

(A) 5- a4 o "2~aﬁq (A) 5—Oxo-4-hydroxypentane-2-one
(B) 4_3-,3@3@-.5-31@—2—% (B) 4-Hydroxy-5-al-2-pentanone
©) 2_3‘3@3@}_4,.311’3@% (C) 2-Hydroxy-4-oxopentanal
(D) 1374~ - T -2~ 33y (D) 1-al-4-oxo-pentan-2-ol

20. SfTm gePe T E? 40. Whatis Calcium sulphate ?
() Epsom salt

(A) T T9H
(B) ren fafeaa (B) Blue vitriol
(C) Tor=| 9% (C) Gypsumsalt
(D) st TR (D) Potash alum
41, SEIT=EA (38RF) Waﬁ-@:ﬁa 41. The enzyme that converts Glucose
R Co, H gead &2 to Ethanol and CO, is-
(A) SBHS (A) Zymase
(B) TEed (B) Invertase
(C) TR (C) Lactase
(D) TR (D) Sucrase
42. 9l ﬁHaPOz‘q'ﬁ‘s"kT:TW?fl'ﬁ’mﬁ i1+ | 42. How many H' will be given by
2 (SErEET) 7 H,PO, in water (Basicity) ?
(A) 3 (A) 3
(B) 0 (B) 0
(C) 2 <) 2
D) 1 (D) 1
[13]
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B SRR

43. TR SETE forere ) pH g &
41 ST =18 ?
(A) =
(B) ST e
(C) &x
(D) S WG

44, 2R-Cl+2Na T5% R R +2NaCl

yfafear -

(A) T3 wfafswan

(B) fwfoT wfafsan
(C) frhors wfafsmar
(D) %eheis wfafsean

45. OF,# siiior =1 sifrcigmo G

FTE?
(A) -2
(B) +2
(€) -1
(D) +1

46. Bﬁﬁaﬁamﬁm(g@ﬁaﬁﬁﬁ)
&1 TR o-
(A) sp
(B) dsp®
(C) sp°
(D) sp’

. 2203 ] Series-D

Kl

4L

43,

44.

45.

46.

H value of
To increas®

neutra] solutio™ we should add -
(A) Acid golution
(B) Acid Salt

(C) Alkali

(D) Buffer Solution

2R c1+2Naw; R-R+2NaC

The reaction 15~

(A) Wurtz reaction

(B) Fittig reaction

(C) Finkelstein reaction

(D) Frankland reaction

What is the oxidation number of

oxygen in OF,?
(A) -2
(B) +2
© -1
(D) +1

The type of hybridisation of Be
inB,H  is-
(A) sp

(B) dsp®
(©) sp®
(D) sp’

Scanned with CamScanner



47, i ) v SR A
Sy
¥?
(A) CH,COOH
(B) HCOOH
(C) CH,CH,COOH
(D) CH,~CH COOH
du,
48, Sdtyea o e uE T P g
W w7
(A) TEifafmm
(B) erfirm
(C) wiferam
(D) frarersfiam

49, fipeitet @1 AIfean TEeEwge 3l F A
eresiaage @ yoer fafwa &1 wqd
TR ¢
(A) Sl 3T
(B) Hfafaa destes
(C) dfafafes <
(D) &fe 37

. ) R
47. The strongest acid among these

i5-

(A) CHSCOOH

(B) HCOOH

©) C¥13C}~12C00l~l

(D) Cl-ls—-(‘IH COOH
CH,

48. The only radioactive element
among the Lanthanides is -

(A) Gadolinium

(B) Holmium

(C) Promethium

(D) Neodymium

49. The major product of interaction of

Phenol with Sodium hydroxide
and Carbon dioxideis -

(A) Benzoic acid

(B) Salicylaldehyde

(C) Salicylic acid

(D) Phthalic acid

[J-2203 ] Series-D

[15]

Scanned with CamScanner



[J-2203] Series-D

Rl
‘ et 9
i W
50, AYTEE ® SH

AT THHRT 7
(A) AfeRT Tret

(B) Wifsam wHraie
(C) wifeam RIS
(D) 1=

=L, ﬁmﬁ@ﬁﬁﬁﬁmmﬂaﬁ?ﬁ@ﬁ
R T St i 2
(A) H-H
(B) C-H
(C) c-C
(D) P-P

52. T R e o e 7
(A) TSTEH

(B) E?O'Q:[o‘qo

(C) faarfim

(D) 'ME=

53. Tell g1 weden wrt 5wy @y
I e STl & 2

(A) srfafay

(B) stemior

(©) =

(D) ¥ § I & |

5 "
4 What of

51,

52.

53.

[16]

treatinent g
|’)r")(‘

I { y ‘y
l)(.l](‘“i“ial “.‘,‘-"—',‘v"! : H.“‘” {
(A) liukinp,s;mln
(B) Sodium corbonate

(C) Sodium chloride
(D) Other

Among the following, the bond that
requirey highest energy to break is-
(A) H-H
(B) C-i
(€) cc
(D) p-p

The human body does not produce-
(A) Enzymes

(B) DNA

(C) Vitamins

(D) Hormones

Alum purifies muddy water by-

(A) Dialysis

(B) Absorption
(C) Coagulation |
(D) None of these.

Scanned with CamScanner



. avre Y L] @ EE Upa -
54. [Pt (NH,), ClLl & HJI’A_Q Ty
w|k?

(A) T ErwEIe W ()

. * >
T T .
;:;JR\,;:‘K sigTHL

(B) B i 1y

(C) TR TrEEE TUEm ()

(D) Erw=TE T WHEm (ivy

& - v 5
HEHXEE

[®]]
f,)l

Sun‘ 3 :ﬁ‘
B ..o o W

CeHg +3Cl, X
(A)
(B)
(C) JFF

5

(D)

- ot s

FEFAG 9311

56. T ¥ fewe |maes §Ea =l
(A) CH,Br
(B) CH,Br,
(C) CH,d
(D) CHBr,

2

A3 fau o fazifa | | %9 WOAE
(A) Tazifa E

(B) fazf K !
(C) fazif C

wt

a4,

56.

(D) fazif D

[J-2203] Series-D

The correct TUPAC name of

[PH(NH,), Cllis -

(A) Diammine dichlorido platinum (1)
(B) Diammine dichlorido platinum (IV)
(C) Diammine dichlorido platinum (0)

(D) Dichlorido diammine platinum (1V)

55. Whatis X in following?

Sunlipht

C6[[6+3C—12 - —3 X
(A) Chloro benzene

(B) BHC

(©) Cyclo benzene

(D) Dichloro benzene

Which one will have highest
Boiling point ?

(A) CH,Br

(B) CH,Br,

(C) CH,Cl

(D) CHBr,

57. Which one of the vitamins given
below is water soluble ?
(A) VitaminE
(B) VitaminK
(C) Vitamin C
(D) VitaminD

(171
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>8. SRS Yo 4 frefaton 1 3
et e = femrin o e g0
EREke T b

(A) TRuma temrta
(B) TEmEEIa

(C) —Erdara

(D) Tiaer Gewrera

9. TARRE A Fir & urged 1§, g T4
13;“*“*‘?’@@3@%?

(A) v

(B) =T (urg =1 Hey)

(C) T 99T Wiz

(D) & HiFHEr ot

60. CO, % wiea F T feeht # F7H
SIS 16 U &2

(A) 051
(B) 0.27m
(C) 0.4 4
(D) 0.25 9=

2203 ] Series-D

S8, Which of the fo

59.

60.

[18]

o empound
. (,)W"‘H““‘ !

; T AN in
| as antifre
e =
can be us® 2

iators

tomobile 18
autom
(‘:l.')h”‘

(A) Methy!®!

(B) Gly<o!
(©) Nitrophen©!
(D) Ethyl alcohol

In the metallurgy of iron from

Haematite, Limestone is added o

act as -

(A) Flux

(B) Slag

(C) Areducing agent
(D) An oxidising agent

What are the number of moles of

CO, which contains 16g of Oxygen
(A) 0.5mole

(B) 0.2 mole
(C) 0.4 mole
(D)’ 0.25 mole

il 52,
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QT}\ION - 111
61. T % T‘ﬁ q A ﬂ ‘rrf‘a\ e .« the increase n Pressure the
61. Wlﬂ"d fSouﬂdwﬂl
eed O
o ::ﬁﬁ o) e
Ec)) @ i (B) Decree”

(D) weat st fore o B Wiy

62. LCR‘?ﬁWﬁmﬁagUﬁanf‘mqm
-
(A) X, =X,
(B) R=0
(C) X, =0
(D) X.=0

63. lgmﬁﬁwﬁa‘;wm%_ 63-

(A) 6x10'2]
(B) 9x10"3j
(C) 3x1015]
(D) 6x101]

64. fadt fag W 10 om T W feom | 64

5x107 C STE9 % SR fava gm-

(A) 35%x10°V
(B) 3.5x10°V
(C) 4.5x10*V
(D) 4.5x10°V

J -2203 ] Series-D [19]

62.

The energymequivalent to 2

“ gubstance of mass 1 g is-

(A) 6x10]
(B) 9x10°]
(C) 3%10°]
(D) 6x10°%]

The potential at a point due to a
charge of 5x107 C located 10 cm
away is-

(A) 3.5x10°V

(B) 3.5%10°V

(C) 4.5%x10*V

(D) 4.5x10°V



B SERL } %

65, Wk e ?{\—ﬂq m o @ faE 65 A oy works on the prim:iph:
‘Lengine

& e 7 Of congepyation Of
V) TR (A) Mass
(B) st (B) Energy
(C) el g (C) Linear momentum
(D) =i wam (D) Angular momentum
66. @Y sy F HEE - 66. The unit of linear magnification is-
(A) A (A) Meter
B) s ) Second
(C) foretm (©) Kilogram
(D) = (0 Noe

O7. W i FEW | 67. Wave nature of light is verified

by-
(A) =afaertor (Z\) Interference
(B) wehrar-feer wog (B) Photoelectric effect
(C) 9trerdq (C) Reflection
(D) sr9ariq (D) Refraction
68. T RO H frresroy o2 fprmg @1 5 | 68. Innuclear reactors the control ro¢
Rt €2 are made of -
(A) wefirm (A) Cadmium
(B) Idrge (B) Graphite
(C) fwwem (C) Krypton
(D) YeRIFEY | (D) Plutonium

[J-2203] Series-D [20]
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69, W’(m%mﬂnmh

R ol & T e |
¥ 2 ) | 8y 69. The moment of momentum for an
ﬁ’l electron in second orbitof hydrogen
{A) h atom as per Bohr's model is-
k4
' h
(B 20 (A)
] )
€ 7
O < ’
n
0) 3
. 27w :
N - mﬁ- M‘Zi 1 | 70. The De-Broine wavelength of a
927 ) heutron at 27°C is A. What will be
,\T its wavelength at 927 %C?
() 2 6/2,9 :
’ S
A p
® 3 ® 3
A
z A
© 3 © 7
(D) 3vdma 8 | 71 78 | (D) None of the above.
71 #R A
. . f%‘ﬂl oo gy fasft €l &t | 71, Which of the following activities is
' not based upon friction ?
(A) (A) Writing
B) @
((3 (B) Speaking
(©) g (C) Hearing
) 9EH
) (D) Walking

Loy
e 45,



~J
ra

(Peak Value) 3-
(A) 155.26v
(B) 220V

(C) 311V

(D) 440V

e
155}

(A) Sawzs
(B) wrg

(C) 3 %7 wify
(D) waifdy

74 Tl o g oy it W | 74
%mwa}ﬁmmamrﬁm

(A) g
(B) 3mawr
(C) =i
(D) =95

75. 3w U Y -
(A) oy
(B) ifost 3t
(C) =rm
(D) wem

76. WA UMY SR W R AW | 76,

HeTferd g 22

(A) 1-100 MHz

(B) 100-200 MHz
(C) 1000-2000 MHz

(D) 800-900 MHz
[J-2203] Series-D

220V weyrasdt Y w1 stfaaradt G | 7

-----------------

i?awm(q-«oﬁm‘z)a%mm”rém— 73.

[22]

75,

v A.C. main
The Peak valu® of 220

15+

(A) 155.26Y
(B) 220V
(C) 311V
(D) 440V

Edd currcntsdonotcause-
ddy

(A) Damping
(B) Heating
(C) Loss of Energy

(D) Sparking

Bernoulli's principle is a fundamental
principle of fluid dynamics based on
the law of conservation of-

(A) Momentum
(B) Charge
(C) Energy
(D) Mass

Identify the scalar quantity-
(A) Displacement

(B) Kinetic energy

(C) Acceleration

(D) Momentum

Mobile telephone operates typically
in the range of -

(A) 1-100 MHz
(B) 100-200 MHz
(C) 1000-2000 MHz

(D) 800-900 MHz
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77. Wmu\‘&?ﬂma}ﬁrq%
iy e ) R P
WH’TWEGT?C”?'TWE&%W
it 2 i

A
A) o
()\5

(B) A

© 2

S

(D) —-A

2

ferar ST ® 2

(A) St

(B) diem

(C) Taferi wa sHifram
(D) |r

79, fey # forg § acg &1 ot Reafedl &
ﬁrqamaﬁt@mqﬁrﬁﬁm%?

(A) ¥Ead o4

(B) 3T T

(C) I U

(D) F (A) ¥R (C)

77. A particle executes simple harmonic

78.

7%

[23]

motion with an amplitude 'A'. At
what displacement it possesses half
potential energy and half kinetic

energy?
® I
(B) A

A
© 3

B

(@) 5

Which element is used to make
solar cell ?

(A) Silver

(B) Copper

(C) Silicon and Germanium

(D) Gold

Which of the following forms a

virtual and erect image for all
positions of the object ? |
(A) Concavelens

(B) Convex lens

(C) Convex mirror

(D) Both (A) and (C)
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. B cn . . 80,

| HT " Py
(A) 9.8 o/ Hfog 2
(B) 9.8 Fotfie; Hpuz 2
(C) 980 ¥to/ Fapvg 2
(D) ¥=

. UF werE s (1) 3 ek
o=
(A) 6.25x7029
(B) 6.25x1018
(€) 6.25x10-1°
(D) 6.25x10%3

R A FR e D.C gy A,
I T FH S §

(A) aewrr

(B) wferemay

(C) siffaeiex

(D) wiggeex

A F wW @ i @ v
g g ?
(A) wEmEE

f",
L3
‘

" 1e o
Thp al\.L‘\‘,iel‘JUOn du

gravity at

the Surface of carth is -
(A) 9.8 m/ g
(B) o3 em/s”
(©) 980 m/s*
D) Zero

81. Number of electrons inone coulomy

of charge will be-
(A) 6.25%10%*
(B) 6.25%10'®
(C) 6.25%x107"°
(D) 6.25x102

82. Which device is used to convertD.C.
to AC.?

(A) Rectifier

(B) Amplifier

(C) Oscillator

(D) Modulator

83. Which used

sonography ?

waves are

(A) Microwaves

(B) Ttz fadi
(C) e froi

(B) Infrared rays
(C) Radio waves |

(D) semitas e

[J~2203] Series-D

(D) Ultrasonic waves

[24]
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84. grter 1 Hirdy
(A) 0
(B) 1
(€)
(D) -1

85. ﬁwﬁﬁmwéﬁ%
T sAfiye gnft 2

(A) T

(B) @

(C) e

(D) Tm

86. TF Heil 15kg 1 A ¥ 15,
S IFH I R | w3 sqa

84. Resistance of anideal Ammeter is -

85.

86.

SN 9 W foe T S @1 qfeen
B- (g:lOm/sz)/%;q
S
(A) 235] &
(B) 225]
(C) 2207
(D) T3

87. ﬁmgaﬂﬂmﬁzﬁ?W%7

Ao )

Bo

(A) ANDE
(B) OR7E

(C) NOR™=
(D) NOT %

[J-2203] Series-D

[25]

(A) O

B) 1

(C) =

(D) -1

Which of the following substance
has highest specific heat ?

( A) Water

(B) Tron

(C) Copper

(D) Mercury

A porter lifts aluggage of 15kg from
the ground and puts it on his head
1.5m above the ground. The work
done by him on the luggage will be-
(g =10m/ sz)

(A) 235]

(B) 225]

(C) 220]

(D) Zero

87. The givenlogic gate is-

g |

Bo—

(A) AND gate
(B) OR gate

(C) NOR gate
(D) NOT gate
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B, WH 100 mi{ wuweh @ 1A PES ™
wufen B & 8 e g A "
LE L DR
(A) 05
(M 0083
{C) 11
(DY 0.1}

§9. u® g frex @ g ®) S0 IR
Wyl R §-
(A) 1=MR?

1

1=l

(B) MR?

(C) 1=2MR?

L

@) 1=2

MR 2
SR

0. Trfafwmt g sydm fa w/ awen
= g -
(A) v
(B) s
(C) T
(D) ¥ & 3

[J-2203] Series-D

o8 A CurTent o |

Kn goth carr!

A 100 mid 4 in
e
YA Fnergy oto

its magnet,.
(Ay asg

My o5

) 13

Yy 0y

Ry

© The Moment of inertia of a circular

dise about i1

diameter is -
(A) 1.MRr2
(B) I::%MRZ
©) 1=1mr2
2
(D) 1=%MR2

0. The mirror used by dental doctoy
is -
(A) Convex
(B) Concave

(C) Plane

- (D) Noneof these

[26]
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SECTION - IV

Mathematics

o1 Frdt vig F IAE I frdg o
HEST: 21 mmzsm%l?ﬁ%m
T & ?

(A) 7346 cm®

(B) 7546cm”

(C) 7446 cm’

(D) 7564 cm®

gz TemTen T TG SRR A
3 Y WrAfh -

©

12

SURT

9

1. The height and the slant heigh

9.

tofa
coneare2lcm and 28 cm respectively.

Then the volume of the cone is-

(A) 7346 cm®
(B) 7546 cm®
(C) 7446 cm’
(D) 7564 cm®

Aycardiis<drawn at random from a

pack of 52 cards. The probability

that the drawn card is not an Ace

is-

(A)
(B)

©

12

) 33

[27]



7) = 9then LCM

o @ LCM 93. If HICF (306 — ?
- g3, ufg HCF (306, 657) ~ (306, 657) = "
(306, 657) ™ oorienr T ? (A 2754
() 2754 (B) 5913
@ =1 .= (C) 22338

(C) 22338

i (D) None of these:
(D) il A W Fw

55 ) e F @it | 94 What is the number of sides of
- :1: $ 22 w1 Wd 45'2”2' ? regular polygon whose each exterior
angle has a measure of 45°7
{(A) 8 - _' (A) 8
(B) 4 /,.,, ® a
() 2 &= <) 2
(D) ¥78 | = & (D) None of these.

95 @ﬁ@‘:bc,Qﬁmﬁw%ﬁ
T T & St w1 A fry @ o

95. A number abc is divisible by 9, then

the sum of digit in it is a multiple

7 ot

™ 2 ,/ (A) 2
(B) 6 ® 6
o © 9

(D) =7 | =xd =&t

(D) Noneof th es A
J - 2203 - ; i : 3 v i S
[ 203 ] Series-D L R T



96. TH FHAGS F mz‘mcm'z @ 3t

T@Wﬁmglécm%"i

M e
feremot &

(A) 10cm

(B) 20cm

(©€) 30cm

(D) 40 cm

97. YT & fera wersh € 2

(A) 1
(B) 2
) 4

(D) 1—d

08, 2700 T IV Teh IR &
(A) I
(B) ferdhenrol bl
(C) FHIT A
(D) Wt <broT <l

[J-2203] Series-D

96, The area of a rhombus is 240 cm? and
one of the diagonal is 16 cm. Then
the other diagonal is-

(A) 10 cm

L =g
(B) 20cm ; /
(C) 30cm o
(D) 40cm

97. How many faces does a hemisphere
have ?

(A) 1

(B) 2

©) 4

(D) Infinite

98. 270° angle is an example of-
(A) Acuteangle
(B) Obtuseangle
(C) Rightangle |

(D) Reflexangle

e o
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thebaseenasenents

6 SR g fon S
(TEiE) ?

{A) 40
3B) 8

© 32
D) 18

107 W T gl demedt w are ¥

(A) 3.5

®) 45

) 55

(1) 538 § Hr 7
[ J - 2203 | SerlesD

--------
- gaeesntt? 3
RS T LA

10 \ :
S Volume of cy 1inder

(A) 73

l7zrr2h

B
(B) 57

(©
(D)

nr’h

nr? (r+h)

106, The ratio of present age of Anu and
Raj is 4 : 5. After'Eight years from
flow the ratio of their ages is 5 : 6.
What is the difference in their age
in years ?

(A) 40
(B) 8

- © 32

(D) 18

107. The mean of the first ten whole

numbers is-

(A) 3.5

(B) 4.5 |
o BB

(D) None of thése. :

[32]



facm R &1 %9 4 /1 4y

(A) 400

(B) 550
(C) 500

(D) 450

109. 0.0000005 ! HHF 9 H Heai- 109

(A) 5x107

(B) 05x107

(C) 5x1077

(D) ¥ & = 7 |

110. GHag A4S & SR onsdi & e | 110
Tl T STUI BIT-

(A) 1:2:3
(B) 2:2:2
(€ 1:1:1

(D) 3:3:3 'V\
[J-2203] Series-D = d

[33 ]

108.

Sale price of 8 L0y car is ¥ 548, i thia
pmﬂl made by ﬁéﬁ'wp‘g,«m;ﬁw ol 2L
What was the cost Prics of fua lepy
car?

(A) 400

() 550

(C) 500

(D) 450

. Convert O.WXXE i saendard

form-

(A) 5x107

(B) 0.5x1077
(C) 5x107

(D) None of these.

. The altitude drawn on gl sdies

of an equilateral triangle aze im @e

ratio of-

(A) 1:2:3

(B) 2:2:2
Oty
) 3:3:3



111. 3f% 15 ATH et feame 5y ap o2 A
P 500 ¥t sy s s qm
RASE AT P R g—
=it ?

(A) 18
(B) 22
(©) 24
(D) 25

’ AC=24m
DE=13 m 3 BF=8 m ¢ T
&Rt BT
D e o
> N &
S >
% QQ,
=3
A NN
u(b(/ Q{
(A) 250m? Q@g{o
(B) 252m?2
(C) 254m?
(D) 260m?

[ J - 2203 ] Series-D

AT 15 workers can built a wall in 48
Rours, {oyw many workers will be
required to do the same work in 30

h0urs ?

112.In the quadrilateral shown in the
figure, DEL AC, BF LAC, AC=24m,

DE=13mand BF=8m. Find area of

the quadrilateral.
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113. T e 1 s #0W fing iz
et At 968 con” T4 iy

3. Theheight of cylinder whose radius

is 7 em and total surface area is

V7 968 cm? will be-
(A) 15¢cm I (A) 15 cm

(B) 22cm | (B) 22cm

(C) 30cm ) (C) 30cm

(D) 3T ¥ g 7 | (D) None of these,

114. HOPE U& WHiat Sigysl ¥ 1 8w 74 | 114. The adjacent figure HOPE is 4

T B ? parallelogram. Find the angle
measure nzn_ . ‘

A) 70° E p p

() Al

C) 110° ’ 110°  f40c

©) 40 g . (@) - -

(D) 40° H 0 (D) 40° o

115. 9a9 '’ faom Wightaeh TS &l 4 115. The sum of first 'n' odd Natural

- numbers is-
Ay 24-1 (A) 2n-1
® ' L

(©) 2n+1 (€ "+l
D) -1 (D) n*-1

[J-2203 ] Series-D i [35]
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(A) sy

(B) werp _—
(C) o -
(D) ey

117, gfe 2
. 3.\4»4\ - |
3 :8{2"‘&:{3{‘“%_

(A) -1

(B) 1 -

(C) -2 L .)m‘ { \\I
SR

(D) 2 '.“‘ [ BN

(D)

[J-2203] series-D

! , petween maximum

6 A
‘ Thu different®

. observation indaty .
and minj umul. s
inim

(A) fruqm‘m“}'

(B) cumulative frequency
(C) Class interval
(D) Range
117, 1f ge+4 -3 =8, then the value of
X is-
(A) -1
(B) 1
€) -2

(D) 2

118. The square of which of the following
would be an odd number ?
(A) 2826
(B) 42008
(C) 7779

(D) 5870

[36]
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. a
119. W e - a1 A el 3

@) 2

® -2

© -3

©) 3

120. A ) Hematt 1 A 100 ¥ w0 v
W 50 ¥ M 3 el w1 orym
-

A) 2:1
(B)*3:1
© 1:2
(D) 1:3

~ [J-2203] Series-D

119. The additive inverse of the Rational

number % is-
b
(A) -
b
® -7
a
© 3

O 3

120. The sum of two numbers is 100 and
their difference is 50, then the ratio
of the two numbers is-
(A) 2:1
(B) 3:1
(@) 1:2
(D) 1:3

[37]
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SECTION |

l';(‘l“‘ﬁ\‘ t\\\’nl’l‘t\on!‘ & li‘\"“ V
Onmenta

121, W8l W few g A g @ Taaan
“opra 't WY ST e O e ?
{A) uwm fvadl |9
(B) o wiras W
{C) wwm vy Ay
(D) Tran e= /ey

122. T waelln v o) i o @ W N
fan B-

(A) wragy

(B) wy

<) uwe

(D) v { =rd =t

123, whrgt et o fedor ] ) 1

(A) 3

(B) TSETER

(C) #iFen & T
(D) wipfaw dred

124. FEYRA & O@SH i 4?
(A) A =™
(B) areHifw
(©) o™
(D) =i .

'J -2203] Serles-D

12 "
“Whiehy 12af®

.udh‘?“

Mm\d! prought Guler

# 1o his court ?

- 3
Palnter "3*‘"‘“

(A) Raja thﬂfv
() Rajs pirbal Sen

() Raja
(1)) Raja Guraj Sen

{ Sen

Ghayam Sen

l22 A \(trrcsu"n‘ part nurroundcd by Sea

on three sides-
(A) Peninsula
(B) lsland
(C) Coast
(®) \NGhe of these.

S

123, What was the main subject of

"Kangra Painting' ?

(A) War

(B) Royal Court

(C) ShriKrishna and Radha
(D) Natural Beauty

124. Who wrote Mahabharata ?
(A) VedVyas
(B) Valmiki
(C) TulsiDas
(D) Kabir

[38]



125, sy N el veat WY S Wiy -
Y

TR ] 125. Where was the first nuclear power
(A) TS plant set up in India ?

®) TR (A) Kalpakkam

Q) . (B) Tarapur

D) wes (C) Narora
) (D) Cuttack

126. fooiR w1 & Sy (ST ey Witz | 126. Jagannath Temple (1681 A D)) in

(1681 A.D.) 5 ST T oty g Sirmour State was built by which
qr? ruler ?
(A) TS TN (A) Budh Prakash
(B) R w1 (B) Bir Prakash
(C) ST WebTeT (C) Jagat Prakash
(D) i YT (D) Karan Prakash
127. 7 Q 39 & 1 wEw E? - | 127. Which of the following is a Rabi
‘ crop ?
(A) =T (A) Rice
B) (B) Gram
© — (C) Cotton

(D) HiE &I (D) Coarse Cereal

" 128, Tra fo= e ey fore oy fee | 128. Mata Chin Mastika temple is

located in which district?

??

(A) Femen (A) Shimla

(B) TSI (B) Kangra

(€) = (C) Una

(D) TRE . (D) Hamirpur
[J-2203 ] Series-D [39]
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129, fiaum N Wwa g B W oy E i
el

A

(A) 1951
(B) 1952
(€) 1953
(D) 1954

13
T Wy )
(A) wr
(B) wdz
(C) wm
(D) Sy

131. Teve o3 o oy devmmmA i | 131.

FME?

(A) 101
(B) 121
(C) 1098
(D) 1100

132. 1A & Smieig fren woma o 35

|l 2 Qe 1 & w32
(A) @] Fre

(B) =i mrgt

(C) i T

(D) @i 2T

[J-2203] Series-D

50. 2024 Sl e ) o F @ | 130,

[40]

2 4 o ¥ 1 ¢
" Wi aaf was the first
‘n[..h. ‘jl

yasembly election of

o
,“L«.,.!n.‘,t» {

Hp bl g2
(/'\; I‘HI
L} 1952
) 1953
H_)) 1954

"’Vhich country will hast the
OI}'mpiC Games in 2024 2

(A) India

(B) England
©) France
(D) ) Japan
What is H.p. Mukhyamaniri Seva
Sankalp helpline number 2

(A) 101

(B) 121

(©) 1098

(D) 1100

132. Which trophy is awarded at the

International film festival of India?
(A) Golden Lotus

(B) Golden Peacock

(C) Golden Elephant

(D) Golden Tiger
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50, Fretin St T e

fpe B ot ? 133. Who recommended the three tier
() TR ST Panchayati Raj system ?

(B) frga Tt (A) Sarkaria Commission

© P V. s (B) Singhvi Committee

(C) Ashok Mehta Committee
(D) Balwant Rai Mehta Committee

(D)wﬁamﬁmqﬁ{ﬁ{

134. RA ! 999 Hfgen Wqﬁ EqE 97 | 134. Whowas the first woman President

of India ?
(A) e wifed () Pratibha Patil
(B) sf=u e (B) Indira Gandhi
(C) Srt g () Sarojini Naidu
(D) HI AR (D) Meera Kumar

135. mﬁ?ﬂqmﬁﬁﬂﬁ T2 | 135 Where is Jamshedpur steel plant

situated ?
(A) feaRR (A) Bihar
(B) TeA W (B) Madhya Pradesh
(C) ¥r@vs (C) Jharkhand
(D) LEELEI (D) WestBengal
136, = ST 1 TS He T 7 136. Whenwas "NITI AAYOG' formed?
(A) 1 SFERI 2015 (A) 1% January 2015
(B) 1 WG 2015 (B) 1 February 2015
(C) 17 2015 (C) 1 March 2015
(D) 1 STTRT 2016 ' (D) 1% January 2016

[J -2203] Series-D [41]

e ———————
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137. 8 9urmisht steer faert amsrid @
| 3w o wet feaq 32

(A) FIHLH
(B) fr=ir i
©) far 4
(D) i <t #

138. “Ra & werafyy oy g g fem £2

(A) Sqtrsgafy

(B) RA % Tex =yt
(C) % TN F syeqg
(D) wyrsEsit

199 ST 5% 2 frt (e 2t )
o T = o a2
(4) e
(B) s
(©) ¥
(D) raaa

140. %1 3 301 R foge & M A I SR
2

(A) Yeiteret 3w
(B) Wr=aerEt 3w
(C) fasravier 2w
(D) ¢ 3RS 291

[J-2203] Series-D

e PSS TS e

13 apal Tun
7. Wh(‘re is the' ks

1338

139.

140.

[42]

nel", named

> Minister Atal
after former PP Minas
r form

Bihari Vajpay gelocated ?
(A) KunzamP2%8

(B) Kinnaur

(C) sjrmaur

(D) Rohtang Pass

- Who administers the oath to the

President of India ?

(A) Vice President

(B) Chief Justice of India
© Speaker of Lok Sabha
(D) Prime Minister

The side view mirrors of vehicles are
which type of mirrors ? ‘
(A) Plane

(B) Inverted
(C) Convex
(D) Concave

Which countries are known as
"Third world' ?

(A) Capitalist country

(B) Communist country
(C) Developing country
(D) Oil Produéihg country

Scanned with CamScanner



141,mmmmw€ﬁ$mm%?

(A) T
(B) ST
(C) wifern
(D) T

142. ©@H T feur=e wow & fiyg
A T 2 b
(A) &
(B) hiTat
(C) o
©) =

143. f=fafem & =19 f.ysiem
Heiferd e 2
(A) W
(B) Tettodo
(C) Hodtosftodio -

(D) T

144, ' FyFe 99 BT’ To&E T fREh
= fera T |1 S § 7

(A) TsfE e

(B) W faeiehr=
(C) v faw

(D) TR

[J-2203] Series-D

141. What is the modern name of
Mesopotamia ?
(A) TIran
(B) Oman
(C) Mangolia
(D) Iraq

142. Swan river flows through which
district of Himachal Pradesh ?
(A) Una
(B) Kangra
(C) Bilaspur
(D) Chamba

143. Which of the following is not related

to disarmament ?
(A) SALT

(B) NPT

(C) CIBT

(D) NATO

144, 'National youth festival' is organised
every year on the birth anniversary
of -

(A) Rajiv Gandhi.

(B) Swami Vivekanand
(C) BhagatSingh

(D) LaxmiBai

[43]
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TSR . R

145.29 ¢ 2023 W) Wren 1w W aume

2022 Y Wiy Py A X ofvn )
(A) ®= wpwe faim

(B s ap
() o Tges
(D) 993 Y0 i

16, Sy aftads w o &
(A) 15w 43
(B) 309t wea gy sy
(©) wgmm
(D) 3wy

147.ﬁwmﬁ@fwﬁamm$m
T e 1) )

(A) 1887
(B) 1889
(C) 1892
(D) 1899

1481857 % o =) 'yom wemm S
%1 T &7
(A) §49 =g arg
(B) e Jex
KZ) dloeio e
(D) n‘emvﬂea;

[J-2203) Series:D

2022 final
14:‘) V"'hl h t(’,]m won the IPL in
34

yaay 20227
Plnyml an 2()“ ¥

(A) Chennal SUPCT Kings
(B) Raj asthan Royal
(©) GuiaratTitans

(D) LucknoW Super Giants

146, | nate changes are caused by-
(A) Green House Gases
(B) Depletion of ozone Layer
(C) Pollution
(D) All these.

147 When was Gaiety Theater of Shiml,
opened for common people?
(A) 1887

(B) 1889
(C) 1892
(D) 1899

148. Who gave the name 'First war of

of 1857 ?

(A) Subhash Chandra Bose
(B) Jawahar Lal Nehru
(C) V.D.Savarkar

India's Independence' to the revolt



o ettt % fepem ' etz ey

©)
(D) weerdt St

150, i <t 8 fere i 2020 1 A
210 e i feman A ?
(A) 29 T 2020
(B) 29 T 2020
(C) 18 g 2020
(D) 14 faqet 2020

149. Recently roleased movie “The
Kashmir Files'1s directed by-
(A) Anupam Kher
(B) DarshanKumal‘
Q) vivek Agnihotri
(D) pallavi Joshi

50. When was new education policy
150.

2020 appr
(A) 29 July 2020
(B) 29 August 2020

oved by Union Cabinet?

(C) 18 July 2020
(D) 14 September 2020

wxhRk

' J-2203] Series-D

- [45]
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